it B G B3
%
E%
£ =R L 8
A L — s

SH4FETA268 #IT| AfLiTE |BHRETARARBNE B8 %= YEE |SERLRHEEREE E M =
S =1 REE 1 &

#% £ BEAN X RSN (AED) BA

A 35 R TAERRBEARA &R

¥ 5E fili 1% 4,532,000 M | AZBLEMEE 4,120,000 M

A B R OB £ #H
A #l =5 £ & =
¥ 1E A AL

WY IIAT A9 5 R

Ja — 2 v ®

T — T4V K i R

EAHEXH BEHEEEDSD

W m B E & 3HF 4,200, 000

FEEREZEHRAREM

A T 4,180, 300

E O & F ®

= x = = & 4,420,000

W > N 2 E B .

oo m % 4,033, 000 % #L

5 &= REEEIL. ANETLHSBEORICEASNI-EEN 100501 0ICHET 22EFMEL-£%8

(HZEHEITIARBOHBAH S L EFX. TOHMBEEENYIETEEHE THS




